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The leader of Neo — classical school of thought is

Pigou £, (D) Keynes - (C) Marshall
The slope of demand curve is
Capital ..~ (D) Zero  (C)
The cause of rise and fall in demand is
Other Factors /.45 (D) Price =< (C)

When marginal utility is negative then total utility
Demand ¥ (D) Decrease |f (C)
The change in total revenue is called
Average cost ..+’ b+l (B)
Marginal cost /1 ?-"" (D)
The substitute name of law of decreasing return is
Decreasing cost _ii+ -J:G’- (B)
Fixed cost i+ o2~ (D)
The cause of contraction and extension of supply is
Price = (D) Technology Gs8 (C)
The demand and supply are equal at
Distance , 2§ (D) Point , ri- (C)
Basic factor of production is
Demand ¥ (D) Land @) (C)
Govt. gives ---------- to public

Subsidy = (D) Export duty Jgi 412 (C)

Equilibrium level of National Income is attained at a point where

Consumption = Investment $£ ..~ = 2~ (B)
Savings = Investment J.§ ../ ==Z (D)

In Pakistan , Coin of five rupee is

Population (:\7 (B)

Unit ;=7 (B)

Import duty 3;3*7» (B)

Consumption = Savings =% =

Income = Savings+ investment (.§ .\~ + = = 347 (C)
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Negative (¢ (B)

Marginal revenue J=: 7~ (C)
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Increasing cost .J;w/_ff (A)
Constant cost _iie (L5 (C)
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Equillibrium price ;=7 (57 (A)
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Labour = (B) Capital ..~ (A)
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Tax (A)
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Near money .; &/ (D) Standard money . S~ (C) Token money . §"k (B) Paper money . $%¥¢ (A)

The phases of trade cycle are

5 (D)

Comparative cost theory was presented by
Heckshar . ~ (D) Ohlin L A4 (C)
---------- is not included in the sources of public revenue.

Fines ..z (D)

Ricardo L ¢, (B)

Defence (s (C)
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PRINCIPLES OF ECONOMICS 11th CLASS 2024 JL{LZ!U&-" J(brl ...;T :J:,JJ;
TIMIE 2:10 HOURS Subjective Part _<l 2#1022 = h“:”J
TOTAL MARSK : 60 (Part -1 d"#") 60 = .'.Vb'
Q. No.2 Write short answers of any Six parts 2x6=12 -f-jﬁ.:.gr:?/z?f_»l:?i .zc_Jf -2/:}.)1:*
Define Macro Economics. _.5{.7 ...gj/." L}/ =\ gf | i |
Write two merits of study of Economics. -@T S8 0 Z sbr L =lfbe | i
Differentiate between consumption of wea'th and transfer of wealth. _é 50 3P S s 2 S| i
Define Demand. &L S v
Explain elasticity of demand. _é.wu: o/...g d,.,ﬂb v
What is meant by stock ? Se sy Ve ol Vi
Define market. - é..u_!/i J S | vii
Explain consumer., -éfls (:z*i' § il ! viii
State law ofdi_m_i_rjEShing marginal utilityf - o -E;’f ...ng Jutir -J:’.w- Ui . ix
Q. No.3 Write short answers of any Six parts 2x6=12 ___{:f =2 A Lz Z a.gf_:gf"\)lr__
Explain total cost. -él =l § &N f i
Define average revenue. S (b i
Differentiate between marginal revenue of marginal cost. _g_-':’éu I A =JU ?“*” ! -J::’; F"' | iii
State law of decreasing return. _{{La _9/5 JJ"’L; JP I v
Define marginal product. LB Y K i 'f"{ LV
Explain monopoly. < é =olos § 6l slel | Vi
Write down conditions of perfect competition. . 2: LF W/ $ A -v"; vii
Define labour. _.’_,10— ....9;}7 u(..-.-'! viii
Differentiate between Rent and Interest. - f»’_f ek J_/;__‘:'_c_i‘_”}_"’ﬁ ix ‘
Q. No.4 Write short answers of any Six parts 2x6=12 _.g‘.:,gm/"—"' P { £ Gf ._4/1‘:;.)!;*
Give two examples of subsidy. ) J:’I‘./ ol i i
Define depreciation allowance. -&f§ b .,Jf,',?-' J ._f'idl J’:r/‘ | ii
Define money. _7-1-'-’...9/‘7 P i
Differentiate between inflation and deflation. ..”_é 5'3 IO Y AR
Explain Recession. - ’_é ..y/‘" J._-;,a::r/ v ‘
Define balance of trade. & ] g ond | i
Write two advantages of International trade. 85 L 0 & oadF S Gt | i
Define Sales Tax. - ﬁf ...._i_-'/7 d/ L,-’g \_5):’ viii
Differentiate between Zakat and Tax. o - é’ Jﬁ/- 9 u”g 595 ix_
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NOTE : Attempt any Three questions from this part 3x8=24 _{_d,»,ﬁcfd'.:,wrd.;.df;yw s -

Critically analyze micro and macro economics. Y 17 27 $iF K 22 07 ol J‘
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Explain the law of constant return with the help of schedule of diagram.

Write down the characteristics of land. _éz_} ;:-__Lar‘;; d/chJ

Explain different methods of measuring National income. - é ok &l L J"'.:, AN
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Write the commons of Taxation in detail. -é_§4j b Joot £ S i 5 |
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